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2020

BOTANY (General)

Paper Code : IV-A & B
[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : IV-A
Full Marks : 16 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. Which of the following are non-renewable resources ?
(A) Water
(B) Mineral
(C) Soil
(D) Forests

s | faEfeiie smafr Sty (@I 2meREee w97 2
(A) @&
(B) fve ==y
(€) =6
(D) qepT=m

2. Which of the following is a man-made ecosystem ?
(A) Salt water ecosystem
(B) Grassland ecosystem
(C) Desert ecosystem
(D) Cropland ecosystem

e N e o

3| fefiiie argetEa st @ W9 Wi ey
(A) T TrEey
(B) gl qreed
(C) wrgfi argey
(D) IR Argey
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3. Which of the following free-floating hydrophytes possesses only one root ?
(A) Nymphae
(B) Spirodela
(C) Lemna

(D) Wolffian

o fysferfie Sfgrsfer sty (AT SR Sere Tfgn A7 GG o1 T6 2
(A) Nymphae
(B) Spirodela
(C) Lemna

(D) Wolffian

4. The pyramid of biomass may be inverted in case of —

(A) Parasitic ecosystem
(B) Fresh water ecosystem
(C) Desert ecosystem

(D) Marine ecosystem

81 fPRIfNTER AT (9 CFC@ ST761 2(J ?
(A) *FER Aoy
(B) Rum-o1 J@eCy
(C) wmghi argery
(D) “rfe rgery

5. The primary meristem includes —
(A) Intercalary meristem
(B) Lateral meristem
(C) Apical meristem

(D) All of the above
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¢| ARTE STF I AUTF —
(A) THRHICR REES
(B) STIGA IfHC6w
(C) @f+=Ia (IRToN

(D) e 1 AT

6. Which of the following cells are grouped into fibres and sclerides ?
(A) Chlorenchyma
(B) Sclerenchyma
(C) Parenchyma
(D) Collenchyma

o

v| fsfefie @@t Fizar ¢ @FEe 3 Swife —
(A) (IR
(B) CHCTIZI
(C) itz
(D) (I

7. The xylem, if its elements derived from the procambium of the apical meristem
known as —

(A) Protoxylem

(B) Primary xylem
(C) Metaxylem

(D) Secondary xylem
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9| GfoRFE EIRTHE (AR (A0F Sizce™ codt 26 @1 —
(A) CABSIRCET
(B) =iE=f @izt
(C) CbTeiZTeT™

(D) T SIZET

8. The breathing roots in halophytes —
(A) Pneumatophores
(B) Rhizomes
(C) Rhizoids
(D) Protonemata

v | FEFEhE Sfema weTE 2o —
(A) eI
(B) ST
(C) FzEre
(D) CeGfesIG

9. The term taxonomy was coined by —
(A) Hutchinson
(B) Carrolus Linnaeus
(C) Kesper Bauhin
(D) A. P. De Candole

51 TwEi W« oe! 26 —
(A) 2D
(B) Hica= ferfemis
(C) FHAF AT
(D) «. fol. f& FTice
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10. The most popular and outstanding Natural system of classification is that of —
(A) Bentham and Hooker
(B) Hutchinson
(C) De Candole

(D) Bessey

Yo | TR SELCI TR AR Aafen gaet 261 —
(A) (@2 S F
(B) 2Ifoemie
(C) T& Wit
(D) @

11. The example of a hydrophytic plant —
(A) Nymphaea stellata
(B) Tagetes erecta
(C) Ficus benghalensis
(D) Cocos nucifera

vy | fasferfie Sfenafera sty T ooer Sfema Swizad 2
(A) Nymphaea stellata
(B) Tagetes erecta

(C) Ficus benghalensis
(D) Cocos nucifera

12. Which one of the following is the largest flower in the world ?
(A) Wolffia globosa
(B) Artocarpus heterophyllus

(C) Rafflesia arnoldii
(D) Raphia regalis
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(A) Wolffia globosa
(B) Artocarpus heterophyllus
(C) Rafflesia arnoldii
(D) Raphia regalis

13. Arrangement of flowers on the floral axis referred as —
(A) Ptyxis
(B) Phyllotaxy
(C) Inflorescence
(D) Venation

50| MR THF 27 ASHIAMNOCS &l 2 —
(A) Ptyxis
(B) Phyllotaxy
(C) Inflorescence
(D) Venation

14. Hypanthodium found in —
(A) Euphorbia hirta
(B) Ficus benghalensis
(C) Leonurus sibiricus

(D) Dianthus chinensis

58| TrEd Al 2RCREIN (7l A —
(A) Euphorbia hirta
(B) Ficus benghalensis
(C) Leonurus sibiricus

(D) Dianthus chinensis
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15. When both accessory whortls i.e. sepal and petal fuse, they form —
(A) Calyx
(B) Corolla
(C) Perianth
(D) Pistil
S@ | ST ARYIIE WIF (accessory whorls) (o(BIeT € (isiler fifere 2 tofd Wt —
(A) IfeTsl
(B) CFICare
(C) coifsrrg
(D) foifEer

16. ‘Pome’ is commonly known as —
(A) Berry
(B) Succulent fruit
(C) Drupe
(D) False fruit
S| AT AN I AT —
(A) @&
(B) <leT et
©€) &
(D) SEFS T
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P-1I (1+1+1) G /20 (N) SUP
2020

BOTANY (General)
Paper Code : IV-B
[New Syllabus]
(Supplementary)
Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.
Group - A

1. Answer any one of the following : 9x1=9

(1) Discuss the identifying characters, systematic position and economic
importance of the family Orchidaceae with its floral formula.

(i) Explain the biogeochemical cycle of biological Nitrogen fixation with its
significance in environment. 6+3

2. Answer any two of the following questions : 4x2=8
(1) Classify the meristematic tissue on the basis of position in the plant body.

(i) Give the full form of ICBN. What is binomial nomenclature? Mention its
importance in taxonomy. 1+1+2

(1) Define the term aestivation. Discuss the different types of aestivation in plant.

(iv) Explain the chain of energy flow in forest ecology.
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Group - B

3. Answer any one of the following questions : 5x1=5
(1) Define Ovule. Discuss the various types of ovules found in plant. 1+4
(i) Mention the economic importance of the family Poaceae.

4. Answer any two of the following questions : 6x2=12
(1) Explain with suitable diagram of Root-Stem Transition in plant.

(i) What is herbarium ? Name one herbarium of India. Briefly discuss the
herbarium techniques for plant material preservation. 1+1+4

(1) What is placentation ? Discuss the various types of placentation. 1+5

(iv) Write a short note on Ecological pyramid.

et -5
s | fsfaiie aree sty @it asfo Ted Tls ¢ SXS=b
(F) SRTTHT W 2PrPFe 72 Adiesael [@HE, AR @38 Sdafes wwg
SCEToAT FCAT |
(¥) TS oImfed Y AARFEe TBEICE FEFER i @3 @7 @Fg A
AT | \RRU)
3| fsferee e ey Q@eie ¥l eives Ted mhe ¢ 8x3=b

(F) Tfgn (M2 SZA SR OIed e ARG I |

(4) ICBN g3+l <% & 2 fasw qissel SICP 0o 2 HISICAIneS s Fisesces
WP ACETO Rl | SR

(1) JPeT 2R PP A6 2 RCT &R JFoT AGRIA FI0F SN A |
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fTetet - 9
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